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Item 23

Aoril 15.2019. Mondav

When rolling a number cube with si
number or a number less than 37

2,4,

7
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The comect answer is choice (B) —. An even number
or a number les€TITET'3 includes the outcomes of 1

=] -

2,4, and 6, and there are 6 outcomes in the sample

space; * simplifies to 2. Ehoice (A) s incomrect

because the probability of rolling a 1 and the
~
Brobability of rolling a number less than 3 were added
together without subtracting the overlap. Choice (C)

s incorrect because It is the probability of an even

probability of a number less than 3 only.

L number only. Choice (D) Is incorrect because it is the
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Item 24
Selected-Response
What is the probability of having ra
lbe
24 | Meses12scP.

know that you odd
Al
\

3| 2

3
conditional prabability, we assume that an odd

number was rolled, which reduces our sample

space ta 1, 3, and 5. Out of those possibiities, the
1

probability of rolling a 5 is . 1 successful outcome

T
0 The correct answer Is choice (8) . With the.

ut of 3 total outcomes. Choice (4) Is incorrect

®

because it is the probability of rolling a & without
knowing an odd number was rolled. Cholee (C) is
incarrect because it is the probability of rolling an
0dd number. Choice (D) Is incormect because it s the

complement of the Gorrest answer.

For#1.6, ¥ whether the line or segment s best described as a r

adius, diameter, chord, secant or tangent.
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For #7-12, ¥ whether dius, di hord. tangent.
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PAKES OF A ClKCLE

BQ: Whs

> ACIrE) € isaset of points in a plane that have an equal distance from a given point.

Read each of the questions below. v one of h
parts and the given visual?
> circl is a point that has an equal
distarc From ach point on the circle. Which mentioned

and 2 point circle. Which mentioned part is a
radig

> diam
Jox T S e
entoned par 3

> A

on e Grcle, Which mentione part s o

> A‘}am“Blamle i a line that touches or
inierieoh i Sirle at cxac h

mentioned part is fangenf?

> A\Waf a circle i a line that fouches or intersects
artic

the cireld a1 Sxactly two points. Which mentionsd p
secant?

> of a circle is the.
m,gmm ch mentioned part

partis the center? [
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From #2, segment AD is the mentioned radius. What are two other radii shown on the ci

From #4,
the circle?

iy po ents and fi

of a circle is a segment between the center

218 il is a ssgment between two points
h

of a circle is a segment between two points

e

iy ore peint. Whic
9

L

AL -

ther non-chord shown on.

TANGENT PROPERTY. | Pythagorean Theorem |
On OT, draw radius TN. a4+ b?—c?
o The tangent line is

perpendicalarto the radius |
drawn to the tangent |

point.
ronas o SErwer
[
These are Theewe | hesas |
Thesecicles do not CIRCLES TANGENT | TANGENT ot 0 massaum of 2
“atersect. | | otomem
same center sidothoother | ouside the ofher
‘COMMON TANGENTS BETWEEN TWO CIRCLES
coMMON SOMMON
INTERNAL Sl
TANGENTS
TANGENTS o S
because they ause they
ntersectthe ot inersect he
e sopment that
e Joins the
joms th centers:
ofthe o circles. conters o the
o circles.

For H17.24, match the notation with the term that best describesit

RELA™
1 ﬁ@ B Chond
/86 D | ¢ b
0 30 p e
n cA
2 32 € F ComuonBxternal Tangent
» ﬁﬂ G Common Internal Tangent
wwe Fon osem
'SEGMENTS are segments on tangents that are congruent.
Tlow do we know tangent segments are congruent?

& What kinds of cirele parts are line AB and fine CB?. dan geh"
What kind of angles are /TAB and /TcB? b1 ghtggg T

TB = TB. What part of the right triangle is TB to ATAB and ATCB? Ypl,’e'qﬁ@
d N
TA=TC. What kinds of circle parts are TA and TC to @17 §
What part of the right triangle is TA o ATAB and TC to ATCE?
WARY i AB congrucnt .Co? SRS U= AD= CD because CPTE

ent Ag

> QIC . .

1 the given cicle below, some of thess parts e ZDBE, TEC, B, A€ and BER.
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e gven visual?
> Al C Mﬂlicxmlmxu\ir\g\e hose vertx is h cente ofthe circe P

i LDBE

N0 %is past of a circe hat measues less than 150°. Which fwo
‘mentioned pits ave minor e (N

> a

A,
patis & somicirck?
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€€ S s o acinle hat squls 160°, Which mentoned

EX | How can we check ' whether

semicircle of OC?

Mo oo Semcle .
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Example: Find the measure of the given arc,

1 m@R.
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ttem 22 INSCRIBED ANGLES OF A CIRCLE
Constructod Response . Distinguish
in 2 deck. Each card though CENTRAL ZACB INSCRIBED ZAPB
13, Each numbor appesre ~n & | The inscribed angie has 2
draws another card without replacin e first. | o The central angle has the oo 4|
5l — on the
partA a1onthe [ | V - [
wate | 7 |
tem 22 ) |
| asits vertex and |
Pane  Expli Exemplar Response | | asitsvererand
inth | = / |
Pomts C
e M s ‘ ait .
—
L BN 6B O S0 -
Part® o ‘Central Angle TNSCRIBED ANGLE
2| Part: When te st card i arawn rom th deck,there are 52 cards o chase from. Vertex is in center of irele Vertox is on circle
Bocause the first cad 5 Nt rplaced, there are only 51 cards o choose from when the
second card isdrawn. S the rosull of icking 2 1.onthe frst draw affcts the sample < <
Space and, herfore, tho probabilty ofpicking 7 on the second craw. This means the
events ar not ndependent. Or other val explanation. o o
4 <ponse
Part & gk o tnervald o »
=~ I
1 [ PartB: When the fst card is draw from the deck,there are 52 cards to choose from. mZCAD =mCD mzc =)
Bocause the first cad 5 nt roplaced, there are only 51 cards o choose from when tho
socond card is drawn. So the rosultof picking @ 1.on the st draw affocts the samplo
Space and, herfor, the probabilty of pOkIg 7 on the second craw. This means the For 1- the tral
events e not independent. Or other vald explanation. 1 2 s 4
0 [ Response is imelevant, inappropriate, or not provided. L N B, 1260
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SOLVING EQUATIONS: For #25-26, solve for xand find each angle or arc. Show work.
25 Equation

‘Equatior]
i
-
.
mSIE = ° mRED = °
mZSCB= ° mZRBD = °
* NOTE: For #27-28, 1 ibed
Equation ‘Equation
(3x+8)°,
m/ZHS = ° mZCNT =
mZZPS = ° mZE = ° mZTGC = © mCT =
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~NOTE: For #29-34, mscribed angles arc ormed by a fangent and a chord. Hind the measure of cach anglc or

29

Solve for x. Assume that lines which appear o be diameters are actual diameters.

X

Find the measure of the arc or central angle indicated. Assume that lines which appear to be

diameters are actual diameters.

9) moIET 10) mJF

April 18, 2019

Yartner 1-10
Tadividual 3,4,6,8,0
o el

Solve for x. Assume that lines which appear to be tangent are tangent.

n

appear to

appear to be

diameters are actual diameters.

5) meIEG

April 17, 2019, Wednesday
Item 15

Selected-Response
Look at quadrilateral QRST.

S(8.8)

=10 8|6 4 20 |2 4 6 8 10

‘What i the image of point R after a counterclockwise rotation of 270 degrees about the origin?

A (6.-3)
B (-3.6)
€. (-6.3)
D. (3.-6)

KELA IEU ANGLED FRKUM INSURIBED ANGLED

For #1-10, x° is formed by f two chords. L line and
solve for .

1
méx = (dre + 4re)

’ E
W

For #11-20, x° s formed by the intersection of two secants or by the intersection of a secant and fangent
Use an auxiliary line and inseribed angles to solve for x.

1
mex = 5 (Big Arc — Small Arc)

o=
” «4: }
P e
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i measur e cosee o th perimeter o square WVE?

A 20units
B. 25.6 units
€. 32 units

D. 40.9 units

April 18, 2019, Thursday
. The corect answer is choice (C) (5, 9.2). The rise
Distance Formula from © to R ks 5 and the run from @ to R Is 7. Multiphy
d = {x 3 i
2= - 6P+ (-, Coordinates of point which partitions a pat amaunt
directed line segment AB at the ratio of uzh (0 find the
Item 16 Domid(x, ) to:Bcr, y,) —
17 | Moses1zcepes | 2
- - T need 1o bel
o correct answer Is choice (8) 256 units. Apply the
tance formula to find the length of one side, which (, L pecaume thia|
6.4. Since this is a square, multiply 6.4 by 4 to 7 hoice (D)
ain the perimetor. Choico (4) is incorrect Because | )|
e number of unit squares on a tine segment was [0 of the
inted to estimate the length and then multipiied ‘coordinates and ycoordnates.
4. Choice (€) is incorrect becauss the number ! | XY %Y
unit squares across the square was counted Jem 17
estimate the length and then muitiplied by 2. *® b
oice (D) is Incortect because It s the approximate SelectedResponse
a of the square. What are the along the . 5)to R(7, 12)
= = 45 87" and partitions the sogment n the ratio of 3 to 27
2| A @a2)
\ 78 B (45.85)
c 692
7 0. 5.7)
-5,

Coordinates of point which partitions a
directed line segment AB at the ratio of o)
Erom ACe, vy to B, y,)

3 +axy by, +
s
or

P U T

Selected-Response XY\ XLY

What are the coordinates of a point that lies along the directed line segment from Q(2, 5) to R(7, 12)
and partitions the segment in the m.loo&a to 6?

A (3,4.2)

&, v) - (Xl it TE p B nhy + = (-3

(2 *.3%2(} '2)) 5 *ﬂ;}&( 12-5)

)

ARC LENGTH AND SECTOR AREA OF CIRCLES

1eto el The sector of a cirle & - "
circle that contains the central angle and its arc.

‘The arc length of a circle. The area of- |
circumference of the circle, | Part of the arca of the circle. |
Sector Area= 2

360°

How do we.
) Scctor Area

13 Lengthof thearc:

Area=

14 Aeszmsea

Lengihof thear s =

15 aea- 5293

Length ofthe arc A8 =

16 Ae-sant

Lengthof thearc KL=

17 Areaz 15386 o

Length of the arc Y2 =

For 14-9,
& What I the area of the shaded partoffie | 5 What s the aro Tength of he shaded part of he
circle? circle?
I
A
6 Whats the azc lengih of 7 of the shaded part of the circle?
the circle?
<7
What is the of the 9 length of the the
cirele? circle?
11101
10 Ceohorewcis HEn T ol e eCo=T5 8
s
s
Geometry Name D1
Arc Length & Sector Area Date Period

Find the length of each arc. Round your answers to the nearest tenth.

0
3 4
5) 0

) B0 B) S24in

=
O wsin D)6 O
o D) 2008

J0s ke satmes LLe AU e etk Mgl wio
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April 19, 2019, Friday

Item 18
Selected-Response

What s the squation of the line that is perpendicular toy =
point (6, 47

A y=-frei
1

B y=-jxtT

C y=-2¢-8

D. y=-2x+18

Item 19
Selected-Response
Study this equation of a circle.
Febxry+2y+6=0
Which of these represents the center and radius of the circle?

center: (3, -1), radius: 4
center: (-3, 1), radius: 4
center: (3. -1), radius: 2
center: (-3, 1), radius: 2

comp

- 6 and passes through the

13

MSGES.12.G.GPE.5

MGSES-12.6.6PE.1

Find the area of each sector. Round your answers to the nearest tenth.
” bl
9 10)
m 12)
A 4Tl B 13I8 95z
€25t D) L2 ATy
211x
oy 2T
CEsw
Geometry GROUP WORK Name: _
CIRCLES

‘Show all work by writing on your disgram! Answers will not be scored without writing on diagrams.
One paper from your group will be randomly chosen to be scored for your whole group grade.

1) Find the value of v.

2) Find the value of x.

300°
v
3) Find the value of y by finding as many other 3) Find the value.
ele s s el by g e 700
" ‘many other angles
9% s s posile "4
120° 90° 140°

5) Find the value of z by finding as many ofher
angles and arcs as possible.

200

6) 1f m4B=60° and radius is § em:
a) What is the length of 4B ? Include units.

b) Whatis the area of the 60° sector? Include units

7) A square is inseribed in a circle s shown.

If the radius of the circle is 6 in., find the area of the shaded region.

§) For OO, mAB=100° and mCD
Find and y. Show work:

A

9) If length of 47 is 107 cm, what s the
ircumference of the circle? Show work.

=),

10) AABC is ioseelo with base 45
I /DAC = 35° and mC 160" Find all ngles
and s,

C

)
Find mAM

A M

@40y

12)InGO, write all angles and arcs in the figure
that can be found.

13) Find all angles and arcs in the circle below.

£
7
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